Extra Practice

Chapter 6
6.1 Solve the linear system by graphing. Check your solution.
L. y=x—1 2. y=3x+12 3. x—y=4
¥ xX+5 ¥ ix — 2 Xty >
4, 4x —y=10 5. 3% 2y= -5 6. 2x+ 1y=18
. ) 3 3
X =4 4x + 3y = —18 9 i
T
6.2 Solve the linear system using substitution.
hy=2x+6b 8. y=3x+5 9. x=2y—-5b
x=y-—3 x+y 1 2x—y=11
10. 2x —y =10 11. 1.5x — 2.5y = 22 12. l'j,r ] ﬁ_].-" 5
X+ 3y hib x—y=10 1
X—=y=6
2
Solve the linear system using elimination.
8.3 13. x+ 2y=2 14. 3x— 4y = -16 15. 3x+ 2y = —31
x+3dy=13 x4y 40 Sx + 2y 449
16. Hx + 4y =6 17. 10y — 3x 41 1B. 4x — 3y =39
x+4y =14 Jx—5y=16 Ty=4x-—-7T9
6.4 19. x+y= 3 20, 5x+ 2y = —19 21. 8x — 3y =61
Sx + Ty 9 10x — Ty 16 2x — by 23
22, 4x — Wy 2 23. S5x — 2y =53 24, 15x —~ 8y =6
Gx + 4y = 31 2x + By =11 25x — 12y =16
6.5 Graph the linear system. Then use the graph to tell whether the linear
system has one solution, no solution, or infinitely many solutions.
25 2x+y=-3 26. 2y —1x =10 27, 10x + by 15
¥ 2x+ 5 2y —2x=18 ¥ 2x—3
6.5 Solve the linear system using substitution or elimination.
28, y—3x=5 20, 2y —3x=136 30. 5x + 5y 32
Xx=y-5 y=3x-12 dx+ 3y =14
3l. 4x + Gy = 11 32. IJy—-3x=12 33. x+ 2y a0
¥ - _.-I
¥ ;xr? i y-éx-llﬁ
6.6 Graph the system of inequalities.
4. y2 5 35. x= -3 36. y<—2x—3
y< -2 y=1 x—y>—4
. x+4yz=-8 38. x=13 39. x+y=3
y-dx<8 x<h x—=y=h
x>—1 y=>—2 x+2y<8
y=0 x—5y=10
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